
Chemical Waste
Containers and How full is too full?

An explanation of the reason why…
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Chemical Waste
How full is too full?

• The reason why: if liquid fills the bottle up to the 
neck, there will be little room for expansion.

• If temperature increases, the liquid will 
expand.

• It can happened: can become warmer in the lab 
and a waste bottle of THF can shatter when the 
liquid expands.



Empty Containers

Uxxx chemical,

container is 
hazardous waste

c Container is 

non-hazardous
waste

c

Uxxx and Pxxx chemical containers should 
be submitted as hazardous waste


